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MATHEMATICS 

(Discipline Specific Core) 

Paper Name: Classical Algebra 

Paper Code: MAT-DSC-141 

Full Marks: 60 

Time: Two and Half Hours 

(The figures in the margin indicate full marks for the questions) 

Answer either in English or in Assamese 

 

1. Answer the following questions: 

তলৰ প্ৰশ্নব োৰৰ উত্তৰ দিয়ো-   

1x7=7 

 (a) What is the polar representation of -1? 

-1 ৰ ধ্ৰুৱীয় প্ৰকাশ কক ? 

(b) (cosθ +isinθ)-5 = ? 

(c) Write the three cube roots of unity. 

1 ৰ ঘনমূল কিকনটা কলখা । 

(d) What is monic polynomial? 

মকনক বহুপদ ৰাকশ কক ? 

(e) Write True/False. 
“An equation with rational co-efficient, irrational roots 

occur in conjugate pair”. 

সছা/কমছা কলখা – 

“পকৰমময় সহগযুক্ত এটা সমীকৰণৰ অপকৰমময় মূলমবাৰ সংযুক্ত আকাৰি থামক”। 

(f) If A is a square matrix, then show that A+AT is symmetric. 
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যকদ A এটা বগগাকাৰ মমৌলকক্ষ, মিমে মদখুওৱা ময A+AT মমৌলকক্ষমটা সমকমি । 

(g) If A = [0  2  5], then find the rank of 3A. 

যকদ A = [0  2  5] হয় মিমে 3A ৰ মৰংক ককমান হব ? 

2.  Answer the following questions:  

তলৰ প্ৰশ্নব োৰৰ উত্তৰ দিয়ো- 

2x4=8 

 (a) Find LogZ and logZ if Z = i. 

LogZ আৰু logZ নিৰ্ণয় কৰা যনি  Z = i. 

(b) Find the fourth root of 1. 

1 ৰ 4-তম মূলব াৰ উনলওৱা । 

(c) Determine the possible number of positive and 

negative real roots of the equation. 

2x5-6x4+x3-6x2+2x-1 = 0 
তলত নিয়া সমীকৰিব াৰ ধিাত্মক আৰু ঋৰ্াত্মক মূলৰ সাম্ভা য সংখ্যা 

নিৰ্ণয় কৰা । 

2x5-6x4+x3-6x2+2x-1 = 0 

(d) Determine the unknown quantities in the 

expression 

2 [ 
𝑥 + 2 𝑦 + 3

3 0
 ] =  [ 

3 6
𝑦 𝑧

 ]
𝑇

 

তলৰ প্ৰকাশ ৰানশত থকা িজিা ৰানশব াৰ নিৰ্ণয় কৰা :   

2 [ 
𝑥 + 2 𝑦 + 3

3 0
 ] =  [ 

3 6
𝑦 𝑧

 ]
𝑇

 

 

 

3. Answer the following questions (any three) 

তলৰ প্ৰশ্নব োৰৰ উত্তৰ দিয়ো (দিব োব ো দতদ টো) 

5x3=15 

 (a) If  x = cosα + isinα, y = cosβ + isinβ and z = cosγ + isinγ,  

then prove that  

cos(β-γ) + cos(γ -α) + cos(α-β) = 1 

যকদ   x = cosα + isinα, y = cosβ + isinβ আৰু z = cosγ + isinγ,  

প্ৰমাণ কৰা ময   cos(β-γ) + cos(γ -α) + cos(α-β) = 1 
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(b) Solve the equation 16x4-64x3+56x2+16x-15 = 0, whose roots 

are in A.P. 

16x4-64x3+56x2+16x-15 = 0 সমীকৰণমটা সমাধান কৰা যকদ মূলমবাৰ 

সমােৰ প্ৰগকিি থামক । 

(c) Prove that an algebraic equation of degree n has at most n 

roots. 

প্ৰমাণ কৰা ময n ঘািৰ বীজগকণিীয় সমীকৰণ এটাৰ সম গ্ াচ্ছ n সংখযক মূল থামক। 

(d) Show that :  দিখু্ওৱা দয : 

i𝑙𝑜𝑔 (
𝑥−𝑖

𝑥+𝑖
) =  π – 2tan-1x 

(e) Find 𝐴−1  if  ( 𝐴−1 উনলওৱা যনি ) 

A = [ 
−1 1 2
3 −1 1 

−1 3 4
] 

(f) If A and B are non-singular matrices then prove that 

(i) (A-1)-1 = A 

(ii) (AB)-1 = B-1A-1 

যনি A আৰু B দু া িি-ন ংগুলাৰ দমৌলকক্ষ হয়, প্ৰমাৰ্ কৰা দয  

(i) (A-1)-1 = A 

(ii) (AB)-1 = B-1A-1 

4.  Answer the following questions (any two)         

তলৰ প্ৰশ্নব োৰৰ উত্তৰ দিয়ো (দিব োব ো দুটো) 

10x3=30 

 (a) (i) State and prove De-Moivere’s theorem for positive and 

negative integer index. 

ধনাত্মক আৰু ঋণাত্মক অখন্দ সূচকৰ বামব কি মইভাৰৰ উপপাদযমটা উকক্তমটা 

কলকখ প্ৰমাণ কৰা ।  

(ii) If sin(θ+iϕ) = tanβ + isecβ, then prove that  

cos2θcosh2ϕ = 3 

যকদ  sin(θ+iϕ) = tanβ + isecβ, মিমে প্ৰমাণ কৰা ময   

cos2θcosh2ϕ = 3 
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(b) (i) If n is an intger, prove that  

(
1+𝑠𝑖𝑛𝜃+𝑖𝑐𝑜𝑠𝜃

1+𝑠𝑖𝑛𝜃−𝑖𝑐𝑜𝑠𝜃
)

𝑛

 = cos(
𝑛𝜋

2
− 𝑛𝜃) + 𝑖sin (

𝑛𝜋

2
− 𝑛𝜃) 

যনি n এ া অখ্ন্দ সংখ্যা, দতবে প্ৰমাৰ্ কৰা দয 

(
1+𝑠𝑖𝑛𝜃+𝑖𝑐𝑜𝑠𝜃

1+𝑠𝑖𝑛𝜃−𝑖𝑐𝑜𝑠𝜃
)

𝑛

 = cos(
𝑛𝜋

2
− 𝑛𝜃) + 𝑖sin (

𝑛𝜋

2
− 𝑛𝜃) 

(ii)     Find all complex numbers z such that exp z = -1 

     সকবলা জটিল সংখ্যা z নিৰ্ণয় কৰা যাবত  exp z = -1 

 

(c) (i) Let A be an n x n matrix. Then show that the following 

statements are equivalent. 

a. A-1 exists 

b. Rank A = n 

c. Ax = 0 implies that x = 0 

ধৰা A এ া n x n দমৌলকক্ষ । প্ৰমাৰ্ কৰা দয তলত নিয়া  াকয নতনি া সমিুলয: 

a. A-1 নহহত হয়  

b. Rank A = n 

c. Ax = 0 হবল x = 0 হ  । 

 

(ii) Find the inverse of     [ 
4 7 2
3 6 1 
2 5 3

]  এই দমৌলকক্ষব াৰ ন পৰীত 

দমৌলকক্ষব া নিৰ্ণয় কৰা । 

 

(d) (i) Find the polynomial of lowest degree which vanishes at 

x = -1, 0, 1 and takes the value 12 at x=2 

x = -1, 0, 1 মািত সমাপি দহাৱা নিম্নতম ঘাতৰ  হুপি ৰানশব া নিৰ্ণয় কৰা যত 

 হুপি ৰানশব াবৱ x=2 ৰ  াব  12 মাি লয় । 

(ii) Find k so that (1-i) is a root of kx2+2x+1 = 0 

k ৰ মাি নিৰ্ণয় কৰা যাবত (1-i) দয় kx2+2x+1 = 0 সমীকৰৰ্ব াৰ এ া মূল 

হয় ।  

(iii) Solve the equations: 

 সমাধাি কৰা : 
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  2x-y+3z   =   0 

  3x+2y+z  =   0 

  x – 4y+5z =  0 

 

(e) When does a homogeneous system of linear equations 

possess a unique solution and what is that unique solution, 

explain. Further, show that the following homogeneous 

system has infinitely many solution and obtain its general 

solution. 

x+2y+z = 0 

2x+4y+z = 0 

x+2y-z = 0 

ৰৰকখক সমীকৰণৰ এটা সমজািীয় প্ৰণালী মককিয়া একক সমাধানৰ অকধকাৰী হয় আৰু 

মসই একক সমাধানমটা কক ? বযাখযা কৰা । ইয়াৰ ওপকৰ মদখুওৱা ময িলি কদয়া 

সমজািীয় প্ৰণালীমটাৰ অসীম সংখযক সমাধান আমছ, আৰু ইয়াৰ সাধাৰন সমাধান 

উকলওৱা : 

x+2y+z = 0 

2x+4y+z = 0 

x+2y-z = 0 

(f) Explain the Cardon’s method of solution of cubic equation 

ax3+bx2+cx+d = 0 

How can we study the nature of roots using this method? 

ax3+bx2+cx+d = 0 নিঘাতৰ সমীকৰৰ্ব া সমাধািৰ কাৰ্ণ িৰ পদ্ধনতব া  যাখ্যা 

কৰা । এই পদ্ধনতৰ সহায়ত দকবিকক মূলব াৰৰ প্ৰকৃনত অধযয়ি কনৰ  পানৰ ? 

 ************  

 

 


